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QUESTION 1

How does the Service Processor communicate with all 8 engines in a VMAX 20K? 

A. Ethernet cables are directly connected to Management Modules in engine 8 and engine 1, which are daisy chained to
the other six engines. 

B. Ethernet cables are directly connected to Management Modules in engine 4 and engine 5, which are daisy chained to
the other six engines. 

C. Ethernet cables are directly connected to each Management Module in each engine. 

D. Ethernet cables are directly connected to the Management Modules in engine 4 which is daisy chained to the other
seven engines. 

Correct Answer: A 

 

QUESTION 2

You are using the SymmWin simulator to test an upgrade. What is required for a successful test? 

A. SymmWin with the same system Enginuity level and two IMPL.Bins 

B. The Service Processor and two upgrade impl.Bins of the same system 

C. The Service Processor and the original IMPL.Bins of the same system 

D. SymmWin with the same Enginuity level and the upgrade impl.Bins 

Correct Answer: A 

 

QUESTION 3

A CE is currently installing a VMAX 40K. Where should the light panel cables of the System Bay be connected? 

A. Engine 4 

B. 1st AC slot 

C. Engine 5 

D. 2nd AC slot 

Correct Answer: A 

 

QUESTION 4

Which two System Bays use the same component layout when fully populated? 
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A. VMAX 10K 3 and 4 

B. VMAX 10K 1 and 2 

C. VMAX 10K 1 and 4 

D. VMAX 10K 2 and 4 

Correct Answer: A 

 

QUESTION 5

Starting with which microcode level requires you to have a secure logon ID in order to operate the Service Processor? 

A. 5772 

B. 5876 

C. 5875 

D. 5773 

Correct Answer: A 
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